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qrgd@ehd (Curriculum)
ENGLISH

. Reading:

(a) Questions based on unseen passage.

(b) Use of words in your own sentences.

(c) Synonyms/Antonyms.

(d) Matching words.

. Writing:

(a) Applications for Principal (An urgent piece of work,
Sickness, Extra-coaching class, Section-change, Fee
Concession).

(b) Essay (Any Animal, Festival, Famous Building, Person,
Friend, Teacher and Principal etc.)

. Grammar:

Parts of Speech :
(a) Nouns (Number, Gender), Pronouns, Adjectives, Verbs,
Articles and Preposition.
(b) Change of Sentences/Tenses.
(c) Translation (Hindi/English)
Tford (MATHEMATICS)
. TYTTE WIS & T[T, 9, S8 9 52M | ( Multiplication, Division,
Addition and Subtraction of Decimal Numbers.)
. Tor=1i & Sirg, W=, Y A
Addition, Subtraction, Multiplication and Division of Fractions.
. zymeE #1 fu= 1 9 fu=1 F1 2vme 1 s=em )
Convert Decimal into Fraction and Fraction into Decimal.

. THT%h1 & |LElR | (Simplification of brackets.)

5. Ufereh e 92 senfid w1 (Problems based on Unitary Method.)

. M ST 1 YA & AR AT S F =AY 1 S A
Tl W | (Problems related to the Perimeter and area of
square and rectangle and volume of cube and cuboid.)

. TNY-EI, W o TR S T FA Tl 991 (Problems

related to find the Profit and Loss, Percentage and Simple Interest.)
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8. WIpfas o YUl TEAEi W S WA
Problems based on Natural and Whole Numbers
9. TETH THIYEE 2 T TOIEE T SR 99 |
Problems based on H.C.F. and L.C.M.

fasm (SCIENCE)

1. Sgali iR drel # e adr e

Similarities and differences between Animals & Plants.
2. Siwg 3R et # ST |

Adaptations in Animals & Plants.
3. o 3R TR (Seed & seedlings)
4. HE FHHE AR AT |

(Human skeleton and muscles)
5. 7ok Wedl shi T 2T IHH YA |

Lack of nutrients and their effects.
6. HHM®H U A IAH! UHAH |

Communicable diseases and their preventions.
7. e TE g T |

(Independence and Environment)
8. TATETU 9gu | (Environmental Pollution)
9. Arg: W, YA TS SUATE |

Air : Properties, Composition and uses
10. &7 9%&+ Td TL&W (Soil Erosion and Conservation)
1. yrfeek 3M9er™  (Natural Calamities)
12. 999 (Measurement)
13. 96, &M 3R F9 (Force, Work and Energy)
14. %@ 79 (Simple Machines)

15. ISR, YAULW q41 9J-397% (Lunar eclipse, Solar eclipse and
Satellite)

16. FHFX 9 39 9T (Computer and its parts)
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[T Ffeg UraToT (GENERAL ABILITY TEST) : GAT

@UE - & : &< (Hindi)

. FVi-foER - TR, G, S |
. W= R - w2, 92, g, gaam, g, e (oftumen, weR,

S F TEAH) vl § A 9w, o, =

. v foaas - wagerst, s, faudaes |

4. V@ sferal, vt 3 3 yoE Wieesr, faftt

e W

1
2
3
4
5
6.
7
Ti
1

W|UE - @ : WHTHe AIar (Mental Ability)

HrEwadl & (Analogy Test)
FZ T@-FH2ar= TIE (Coding—decoding Test)
e di&ror (Direction Test)
T 9 (Blood Relation)
A T4 (Series Test)
amfa fmfor (Formation of Figures)

@ug - T : A A1 (General Knowledge)

. % U4 I A (Books & thelr writers)
. EHR W f9E (Our National Symbols)

. = 9 faest (Sports & Sportsman)
. gt aTfesFr (Scientific Inventions)

. W, TAYFT UE Y (States, Capitals and Languages)

TR HieRge (Our Pilgrims)

. Taran SHRT (Latest Knowledge)

ime : 40 Min. English Model Paper - | M.M.:40
. Read the passage carefully and answer the questions given

below- 5

Dry fruits are useful in various diseases of the brain,
muscles and tissues. Particularly almond has got unique.
properties 1o remove brain weakness and strengthen it. Almond
preserves the vitality of the brain, strengthens the muscles and
destroys diseases originating from nervous and bilious disorders.
Walnut is another dry fruit that possesses wonderful qualities of
curing brain weakness. According to Dr. Johnson, almonds, figs,

3

grapes, dates, apples and oranges. are rich in phosphoric
element and should normally be used by brain workers.
Phosphorus nourishes the vital tissues of the body. It keeps the
mind full of enthusiasm for more work.
i) Dry fruits are useful because they:
(a) Strengthen our heart
(b) Cure various diseases of the brain, muscles and tissues.
(c) Give confidence to us
(d) Empower us to do challenging tasks.
i) Which one is not a property of almond?
(a) It preserves the vitality of brain
(b) It strengthens the muscles
(c) It destroys diseases originating from nervous disorders
(d) It helps to earn money
iii) Phosphoric element is found in:
{a) almonds, figs, grapes, dates, apples and oranges.
(b) almonds, figs, papayas, guavas and pine apples.
(c) all the green vegetables (d) seasonal fruits
iv) Brainworkers should take fruits rich in phosphoric element because:
(a) They remove brain weakness
(b) They nourish the vital tissues of body
(c) They keep the mind full of enthusiasm.
(d) All of the above
v) The word unique means the same as :

(a) Ordinary (b) Highly qualified
{c) Usual (d) Enlightened
. Use the degree as per the sentences given: 3
(a) Raviisas ............ as Mohan. (strong)
(b) Gopal runs ................. than Deepak. (fast)
(c) Teenaisthe .............. girl in Mathura. (Beautiful)
. Change the gender of the following words: 2
(a) Horse (b) Woman (c) Lion (d) Actor
. Give the opposite to the following words: 2
(a) Arrest (b) Buy (c) Dull (d) Full
. Change the number of the following words: 2
(a) Baby (b) Wolf (c) Roof (d) Man
. Fill in the blanks with suitable pronouns : 2
(@) Ravihas a pen ................ is of red colour. (He/She/lt)
(b) Ramesh loves you and ................ . (She/her/He)
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7. Find out the adjectives from the following sentences: 2
(a) Many boys are running in the ground.
(b) Ram was a good king.

8. Write the correct form of the verbs: 2
(a) He always .......cccecueue. to school. (go)
(b) They ................ a snake yesterday. (kill)

9. Translate into English: 4
(a) U FH T ST Tl (b)) T FA g R
(c) @ | SATYERT A § 2 (d) IFAFAMEA?

10. Fill in the blanks with suitable articles: 3

(a) Raviis .....cooceeee. one eyed man.
(b) Heis.............. intelligent boy.
(c) They are .................. most intelligent boys.

11. Fill in the blanks with suitable prepositions: 3
(a) Ravilives .................. Mathura in U.P. (in / at/ within)
(b) The dog jumped ................. the river. (in / into / at)
(c) There is a friendship ................ Ram and Shyam.

(between / among / in)

12. Change the following sentences as directed: 3

(a) He plays Cricket. (Negative)
(b) They came home. (Interrogative)
(c) Ravilaughs. (Future indefinite)

13. Write an application to the Principal for fee concession. 3
14. Write an essay on any one of the following topics: 4
(a) My favourite teacher (b) Holi  (c) Our Principal
Time : 40 Min. English Model Paper - Il M.M.:40
1. Read the passage carefully and answer the questions given

below- 5

Plants need sun light and water to make their own food. You
can do an experiment to test if this is true. Place a bucket over a
patch of green grass. After a few days, After a few days, lift the
bucket. You will see that the grass is not as green anymore. If
you leave the bucket in place for a walk, the grass will become
very dull. This happens because the grass can not make food in
the dark. Remove the bucket. In a few days, the grass will start
turning green again.

i) What is the main point of this passage ?
(a) Buckets are bad  (b) Plants need sunlight

5

10.

(c) Grass is not pretty (d) Plants do not need sun light.
i) Plants need sunlight and ..

(a) stone (b) iron (c} water (d) grass
iii) How long deep it take for the grass to become dull ?

(a) amonth (b) adays (c) aweek (d) ayear
iv) What happens after a few days ?

(a) The grass turns brown  (b) The grass turns red

(c) The grass turns dull (d) The grass turns green
v) What is the opposite of dull ?

(a) brown (b) red (c) black (d) bright
Use the degree as per the given sentences : 3
(a) Mohanisas .........c.c....e. as Sohan. (wise)

(b) Fruits are ..........cesnennene. than fast food. (good)

(c) lamthe ..................... boys in my class.  (intelligent)

Change the gender of the following words : 2

(a) Man (b) Horse (c) Tiger (d) Nephew

Give the opposite to the following words : 2

(a) Dull (b) Educated (c) Wear (d) Boy

Change the number of the following words : 2

(a) City (b) Knife (c) Woman (d) Life

Fill in the blanks with suitable pronouns : 2

(a) I have a book. .......... is very expensive. (He /She/It)

(b) Rohan and Sohan are my good friends. ........... always help
me. (He / She / They)

Find out the adjectives from the following sentences : 2

(a) He is a good boy.
(b) My parents are very hardworking.

Write the correct form of the verbs : Z
(a) My brother ..................... with me. (play)

({2 1) . to Agra last week. (go)
Translate into English : 4

(a) F e feramera s ) (b) T a1 e e e o

(c) =& =i &1 B (d) =0 9% AT H FHSR &2
Fill in the blanks with suitable articles : <A
(a) Heis ..................... honest person.

(b) I studyin ..................... University

(€) ThIiS S eeeeeeireeieeee best book of English.

(d) He brought -....cvesvimosas good book for me.
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11. Fill in the blanks with suitable prepositions : 4

(a) Pour some water ............ the cooler. (in / into / on)

(b) He jumped .............. a table. (in / upon / at)

(c) Ilive .eriernnnes Rajpur in Vrindavan. (at/in / on)

(d) Distribute the sweet ................. all the students.

(between / among/in)

12. Change the following sentences as directed : 4

(a) He plays with me. (Negative)

(b) | did not come yesterday. (Affirmative)

(c) Mohan will come tomorrow. (Past Indefinite)

(d) They are studying. (Future continuous)
13. Write an essay on any of the following topics : 4

(a) Holi  (b) My Best Friend (c) My favourite Teacher

Time : 40 Min Mathematics Model Paper—-1 M.M.: 40
Section-A (Each Question carry 1 mark)

1. Subtract (FERY): 1.0-09=
2. Divide (¥ FifSm): 123+1.23=
1 .2
3. Add (Siifgn): 15-.-25:
4. Write the least prime number. (Fa9 B2t 3199 w1 fafau )

— 1.1 11

5. Simplify (ww@ =ifsai): ]

6. The side of a square is 5 cm. Find its perimeter. (T& a1 T
TS WS 5 Ao ¥ 1 THHT AR w i)

7. Write the LCM of 2, 3and 4. (2, 3 3 4 o1 T e fefau 1)

7 7

8. Convert _-into decimal. (? &I TYHEE | aafer 1)
3

9. 4m (=) =......c..e...o... om (HHflo)

10. If one acute angle of a right angled triangle is 45° then find other
acute angle of that triangle.

Ifg ot THeRT e 1 U =T 450 ¥ 1 39 s 1

IR T HIH )
7

Section-B (Each Question carry 2 marks)

11. If the cost of 14 m of cloth is ¥ 1470. Find the cost of 5 m of
cloth. (fg 14 HieX 92 F1 94 T 1470 T @1 5 HieX FI8 F1 Jo4
T s |)

12. The side of a cuboid are 3m, 2m and 1m. Find its volume. (T
T T ST 3m, 2m R 1m § 1 9 T H AE [ i 1)

13. The perimeter of a square is 40 m then find its area. (& a7 &
AT 40 Hiet ¥ O THEH AAFE A HITAC |)

14. Simplify (W@ &ifaw): 28 -[4 + {16 — (15 - 18)}]

15. Find the amount if principal = ¥ 700, rate of interest = 5%
annual, time = 2 years, (= %t 7o/ 3 4% 4 9o+ = T 700,
T = 5% aMfbE, T = 2 TH)

Section-C {Each Question carry 4 marks)

16. Find the area of that rectangle whose perimeter = 20 cm,
and length = 6 cm. (3T 31T 1 SAHE 14 HiTSTT Forent YA
=20cm, ARTEE =6 cm A1)

17. Find the greatest 3-digit number which is exactly divisible by
6,8 and 12,

3 i ® 9% Hay 93] &A1 Id ST @il 6, 8 3 12 ¥ qvia:
T 2

18. Aditi sold a cycle at T 1800 at a loss of 10%. Find the cost price
of cycle. (#fefa =1 u= wEfHa T 1800 # 3= W 10 UfavE &1 aifv
T% Ol UIslohel ol %9 Tod HId HiTad |)

19. The area of the base of a rectangular hall is 80 m?. If the volume
ofthe hall is 480 m® then find the height of the hall. (T JTEATHR
e & TR F1 &5 80 m? ¥ Afe 39 S 480 mPE A1 3
el Bl S8 1 By 1)

20. Ananya bought 90 apples from the market. If 20% apples were
rotten then find the number of fine apples. (=1 3 FIX | 90
g |E | G 20% 9 wE e @ o= TEi H1 e 96

Fifa 1) "



Time : 40 Min Mathematics Model Paper—Il M.M.: 40
Section-A (Each Question carry 1 mark)

Write the least odd prime number. (=@ it fam srursa g fafew )

Simplify (T Hifsw1): 6-3x2=

Add (SiIfgr): 0.09 + 0.91 =

o B W N

If the measrement of two angles of a triangle are 40° and 60°,

then write the measurement of third angle of this triangle. (T&

frys % <1 % T 1 40° 3R 60° ¥ @ 59 fyw & e w:im

7 fafam )

6. If (af€) Profit (M) =% 10, S.P. (fFoTo) = 50 then ()
C.P. (Fogo) =2

7. If the perimeter of a square is 10 cm then write its side. (T =7
@i it 10 Tt € @ 3Tt o fafa )

8. 50 %1 20 wfawa {20% of 50) = ?

9. Convert %into decimal. (% i e | qafed 1)

10. Write the H.C.F. of two consecutive even numbers. (21 TER
Y GEAIE H1 Hg9H SHYad faf@ag )

Section-B (Each Question carry 2 marks)

11. If the cost of two pens is T 10 then find the cost of half dozzen pens.
(fE <1 57 1 F5a T 10 B A ST TS 97 1 FHHG 9 Hiterd )

12. The side of a cube is 5 cm. Find the volume of this cube. (T
A T WS 5 Wito F T 3W TA 1 SAAEA T Hifew )

13. Simplify (T3 HIf9T): 5[4 +2x3-10 +2]

14. Find the simple Iinterest, if principal money = ¥ 1000, rate of
interest = 12% per annum and time = 8 months. (FTEMOT =TS
a4 Al gauE = X 1000, T = 12 9iawm e, 999 = 8 7R7)

15. A fan was bought for ¥ 800 and sold it for ¥ 1000. Find profit
percent. (& &N T H 800 TieT T SR 39 T 1000 ¥ =1 TN Al

Ty i A e |
9

Section-C (Each Question carry 4 marks)

16. The length of rectangular floor is 4 m and breadth is 3 m. How
many suqare tiles of side 0.5 m can fit on this floor. (T STIARER
¥ I o 4 Hio 2R TgE 3 Hie ¥ 3@ WY H 0.5 He Y
ATl el SR 25 oM Tl € 2)

17. The length of a rectangular hall is 4 m and breadth is 3 m. If its
volume is 24 m3, then find the height of the hall. (T TARER
et &1 s 4 Tio 2R <rew 3 wWo ¥ 1 afe 39 3T 24 59 Ho
1l B i 91 91 SI1)

18. Find the smallest number which is completely divisible by 3, 4, 5
if 3 Is added to that number. (32 BIt & S= T=A FA FHife0
i 3 Szt W 9E 3, 4, 5§ ia: fawifsa @ s/1)

19. Aditi got 490 marks out of 500 marks in half yearly exams. What
percentage of marks did Aditi get? (1fzfa # ettt wien ®
500 T ¥ 490 3= 7 @ sifefa +1 o e wfawm 3% T gEn))

20. Ananya bought a cycle for ¥ 850. She spent ¥ 150 on
repairing. Now she sold it on ¥ 1200. Find her profit percent.

ST A U WIEERE 3 850 i WS | 39 T 150 THHI WA W
== #1313 309 38 T 1200 © o T 1 1= &1 ey gfavre
d =ifeg |
Time : 40 Min Science Model Paper — | M.M.:40
1. ufwEl =i et Jae W= sufe gaa g #1 9 fafe) 371 ga
fedi @1 s @ faf@w | (Write the name of small pores present
on the surface of leaves. Write one function of these pores.) 2
2. () & A AT 1 F1 FHEd © 7
(What is the name of outer coating of a seed?) 2
(@) Feer @ Wi &1 Aty & 7% TiH H1 90 Fas |
(Name of joint in between hips and thigh)
3. = qUl AT W HeAr aret v & Am fafed | 2
Name the pathogens which cause Small pox and Malaria.

HEE (SMall POX) «vevererreeenas HATAT (Malaria) «...occcocoveens



10.

1.

12.

(%) %2 %1 S0 IeA | HF-F1 oA S 91 €2 (Which type of
force is applied for lifting a brick.) 2
(@) 9@ 9l | FH91 TTS R T8 FI1S & Thel i AEhHa L ol
71 7 f9 5@ % W 21 2 (A comb rubbed with dry hair
attracts pieces of papers. Which force is responsible for this.)
() 3 el =1 S 2T vire o ford g S el e faske e
¥, 7 F8d €2 (What is the type of plants that depend on
other living plants for their food?) 2
(@) &g FAL H FEen o W HA-5 T/ 95401 82
Which gas is produced by burning coal in a closed room ?
(%) asi 5199 91 99 61 AW fafad 2
Write the name of rain measuring device.
(@) v ufsman # 9 wE-t i fmen §2
Which gas is released by plants in respiration process.
(F) FH-T 11 =1 & ot B I R? 2
Which gas turns lime water milky.
(@) fordl @y =afm = v = a feult Afcgag & framam €2
Whatis the body temperature of a healthy person in degree celsius?
B HeherT= enfadt o = faf@d | (Write two names of endangered
species) 2
forva & =27 a1 uferdi o TR 59 w8 & el w1 A fafe | i
i fezal 327 & fom fFa vr sTamfem 2t €2 (Write the

name of the bird which has the highest height among the world's
flying bird. How are bones of birds adapted for flying? 2

fore 18 =1 il 93 T TS S € 2 R o AR R
fo @ ? (Leaves of which plant are shrunk while touching?
Who invented crescograph? 2
& 7R & SHies & < S fafan)

Give two examples of the second class lever. 2
FHIA U4 9% Hies Fi & 9w fovmad fafad ) (Write two

common characheristics of Mushrooms and Breadmound.) 2
11

13. TFT YR 1 TR B F - 2
(%) 5 9o, @l SR a=sw & = a
(@) 5 ==5H1, g4 SR gl & &9 8 |
Which type of eclipse occurs—
(a) When the earth comes between sun and moon.
{b) When the moon comes between sun and earth.
14. TUR YRR F1 9 FE1 q91 TaH Bl g2l S AW farta ) 2
Write the longest and the smallest bone of our body.
15. 3THEHA Y ed © ? THH U HRU ST s
What is soil erosion ? Give one reason of it.
16. T T2l #1 g9fd FIC I (Fill in the blanks)- 5
(@) e F T oo B HE T @R T2
Plant leaves appear green due to presence of ... -
(b) TUETHE BRI Y T & T W G, T oo am%r%;
Letters are sent speedly by internet. This is called ............. .
(c) TS % T feera ] ST e s 1 T .o A T
Atomic Research Centre near Mumbai was founded by .......
(d) wvoveeernnirennnes. T THTOTRTE SFETOT 1 ST FHTA T
.. blood cells absorbs oxygen.
(e)ﬁnﬁﬁmqﬂwﬁ@ﬁaﬁﬁ RS - & |
The removal of soll from its original place is called ............... .
17. frAtafEs wo & '@t = e’ fafa) 5

(Write True/False against each of the following statements)—
(a) FP H TR Y A A HI-9E Fed €

The device like typewriter in computer system is called

keyboard. ( )
(b) T W fermoy By e § 1
Swine flu is caused by virus. ( )

(c) g4 = W § TR YRR ¥ faeifaa-u adr §)
12



Time : 40 Min
1.

Vitamin - A is formed in our body in sunlight. ( )
(d) T faarfaa-=t =1 S@d g €1
Papaya is a good source of vitamin — C. ( )

(e) o™ 1 TiterT HIHIITE 2= SR At St 1

Magnitude of earthquake is measured by
Seismograph. ( )

Science Model Paper - Il M.M.:40
19 M T 56 3c9 HTA w1 IR 1 Feelldl § 2 Uk 310 o
e St 1 A9 fafemi (Name the process by which new
individuals are produced? Write name of one organism that lays
egg.) 2

et e Hraw 9§ afedi w1 U 39 A g 39 S Y i
FEAdl €2 YEIT F TE 3T 9 €2 (Write the name of
phenomena of birds from on habitat to another in specific
climate? Why can an Ostrich not fly? 2

foryyeit # @t fopeett et a2 wodt # efe=di § w0
HfYy @t €2 (How many bones are in infants? Which type of
joint is present in skull hones?) 2

TEEIA T 1 it wid § wuraiid F49 2 96 € 2 (Why are
the leaves of xerophytic plants are modified into spines?) 2

F=E1 | WM U FeEiegse il Sl ¥ EH are &1 3 % 9 fafeu |

(Name of two diseases caused by the deficiency of protein and
carbohydrate.) 2
TR YR foe sl 2 87 &9 ST fw Hormeiier # g
A THHEGHA FAE 7 (How many senses we have? By which
sense we feel hot and cold?) 2

forel siw & sl =1 @ier W S S femrt @ €, 38
Fed © 7 39D Y A 1 AW Gd5Y FHHd 99 1 o g g

When we open the cotyledons of a seed, we sea a small

structure. What is the name of this structure? Name the part of

this structure by which a new stem develops? 2
13

10.

11.

12.

13.

14,

15.
6.

Frferfeaa =1 v fasar s 1 Write full form of the following:)
(a) LPG (u@otiosito) (b) CFL (HioUFousto) 2
Tafen @ir Afaw I few gausia & & rw | €2 (Which

microorganisms cause malaria and dysentry? 2
qH g <l % T e faf@ul (What s the standard unit of
time and distance?) 2

WY v o # SE-w T o § aw FE- i e g2 2
Which gas is taken in and released by plants in respiration?
Frafefias |l & =m fafeu- 2
(F) F=N G YN S A (@) FUSA 3R T H 5l
Write the name of following joints :-

(a) Between shoulder and forelimb
(b) Between skull and spinal cords

FR-T T T B T g S e P e e #
TEE Tt € 2
Which gas tums lime water milky and which gas helps in burning?
9 T G SteA ik Siiet S F9E S|l § 2 (How can Oral

Rehydration Solution (ORS) is prepared at our home.) 2
31 faga yefaEi & =m fafew ) (Name two extinct species.) 2
Teara Tt =1 gfd 1w (Fill in the blanks): 5
(8) evrecreenens SN T S HE T SO S F

csssasasiasinsass -.. drop is given to the children orally.
(b). aﬁwﬁuﬁf%mnﬁrﬁrmmm@m%i

The colour of leaves is green due to presence of ......... .
(c) AT AN H A T covvvcnrerenrcenennen. T8 R ST B0 €1

............... gas of air is used for manufacturing urea,

Solar eclipse occurs on the ... 0Ny
(8) worvervvnmsnssrisevanseense. THEZEX ThT AFETSF THEQAT €

... is called the brain of computer.
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17. Frafafad woei & wm ‘W@ a1 ‘vea’ fafew) (Write True/
False) — 5
(a) sifaer | faerfu =t sifems 9rn <mr 21

Vitamin 'C' is found in Amla in rich amount. ( )
(b) {7 =t T2 %&F It &N B €

Spinal cord protect our heart. ( )
(c) T T IV WOl 7 |
Frog is an amphibian. ( )
(d) vare o # Wi wre =i sfeane W e ¥
Plants consumes Carbon dioxide in respiration. ( )
(e) F1-wE UF Hodlo FrET T Tl T
Keyboard appears like a T.V. ( )
Time : 30 Min GAT Model Paper - | M.M.: 30
Section : A (Hindi) (1x10=10)
. 'gREA’ O % e saem ¥
a3, %, UH A BE-T 90 e §?
1§ €1 3 o ferd |
'S+ 'S v B A . SR
‘Fua’ & < et = fafan )
‘g’ A e v | § g v wifen |
Tt s =kt fafy fafa )
‘o =1 faeim ves fafEu |
‘e e 7, § T 9 foden wifed
. foFm & 31 e 911w AW fata
Section : B (Mental Ability) (1x10=10)
1. Tora yem T wrsife & finen 3, St werr sregaret formd wrafem 32
(a) =M (b) ¥errst (c) T (d) wf=t
Just as school is related to education, similarly hospital is related
to what:-

(a) Diet (b) Treatment(c) Defeat (d) Peace
15
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. Afz 'EF* 1 FI1E 'FG' T 91 AB T HIS T HiTeu-

If code of 'EF' is FG, then find the code of 'AB":
(a) BC (by CD (c) DE (d) DF

. VR A Yt B | Y i SR T 91 YR C H IW HT AR T W C,

vret B 9 fg fewn d B- (City Ais to the east of city B and city C

is to the north. In which direction is city C from city B):

(a) S (b) ST UR=H (c) A gE  (d) Sfamrafeam
North East North West ~ South East South West

. amash farsit Y afes =1 98 =0 TR & (How is your father's

sister related to you):
(a) g=m (b) afe (c) st (d) =g
Aunty Sister Maetmal aunty None

. Trafafaa Sofi | faa den 9 FIU- Write the missing number

in the following series:
A CEG?ILK
(@B (b) D (c) F (d) H

. 9% FiEhfd § el stehfd =1 2fi-  (What will come next in the

question figure:

—_ | e—] | =

— — ?

» —_— _—

— - —

(@ = ®) = © ? @ :’

. X, Y %I afE F Y,Kﬁg% K, Lo 9 %1 L, Y %1 %F -

Y is the sister of X. Y is daughter of K, K is husband of L then L
is related to Y:

(a) W& (b) afed (c) famm (d) e
Brother Sister Father Mother
. Ti@a = W # SEm- What will come in blank place:
4:9:7:25
(a) 16 (b) 18 (c) 20 (d) 14

. Ife UNQQR #1 214 SLOOP & @ ETCOR &1 2149 - If UNQQR

means SLOOP, then ETCOR means:
(a) DQZHO (b) BSZNP  (c) CRAMP (d) ERBNP
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10. TfR=A : T 1 3TN : 7 (Doctor : Nurse :: Follower : ?)

(a) 7 (b) FmT  (c) W9 (d) wHERT
(a) Leader (b) Employer (c) Union (d) Worker
Section - C (GK.) (1x10=10)

. s & o $iF 2- (Who is the writer of the 'Panchtantra’):-
(a) Tou ymai (b) ToEieE () GEM  (d) SRA™

Vishnu Sharma Tulsidas Surdas Vedvyas
. A 5 3R TR e feran-
(a) WsTg TR (b) ==

(c) TERTEE TEw (d) T8 9 FT T
Who wrote the national anthem, "Jan Gana Mana':-
(a) Ravindra Nath Tagore (b) Premchand

(c) Jawahar Lal Nehru (d) None of these
. TRl W o fedhe 3= 9§ fagu voe @

(a) = wEam (b) FHodiouTo F8TT

(c) Tfem dgaiat (d) Gt TTerERT

Who is the first indian to hit a triple century in test cricket:-
(a) Virendra Sehwag (b) VVS Laxman

(c) Sachin Tendulkar (d) Sunil Gavaskar

. TRTY1 9Cd 1 SRR A & ford o < st &
(a) SAEsTH =P (b) S Hahfer
(c) FAaE ABEA (d) 9roH Uea UEEA
Who is known as for inventing the light bulb:-

(a) Isaac Newton (b) Benjamin Franklin
(c) Albert Einstein (d) Thomas Alva Edison

. TS T HI TSI F 2 (What is the capital of state Goa):-

(a) Tt (b) 3T (c) MBS (d) fawel
Panaji ltanagar Lucknow Delhi
. M sYyfh Fel fegd 2:- (Where is Ram Janmabhomi located):-
(a) BT (b) FRT (c) I (d) I
Mathura Kashi Ujjain Ayodhya

. 2023 @1 ICC s feadia favasy f&ea - (Who won the
i3

2023 ICC ODI World cup) :-

(a) smefemn (b) wa (c) =fém s1iI(d) FTeIUE
Australia Bharat South Africa  England

FTER vovevneen o W 1 A7 WiTg acta faemst €1

Dhyan Chand is an Indian sports player of World renown in the
sport of ...... ?

YR T Feiteh WX fohae e ¥R disg -
How many asiatic lions are present on the Indian State Emblem:-
(@) 2 (b) 3 (c) 4 (d) 5

10. YR T &5 i <l AR T 1 A 4 B

What s the ratio of the Indian National Flag width to length:-

(a) 1:2 (b) 1:4 (c) 2:3 (d) 34
Time : 30 Min GAT Model Paper - I M.M.: 30
Section : A (Hindi) (1x10=10)
1. ‘feurem’ 9= & foe 9 #1 Se 272
2. £33, @, 30 A FE-9 9ol < 77
3. W & SRy e fag |
4. 'm' + ' HAAF T A ... TAWE)
5. 3 H AR IR oo, THL B BT BN
6. ‘I’ & & wErEEE v fafan
7. ‘ersitarg’ & * seitaie weg d 9§ g v wifew)
8. et wrn =1 farfr ferfa )
9. ‘g’ faeid v fafe)
10. SATER =Afea | fagoor 5 favre wifed |
Section : B (Mental Ability) (1x10=10)
1. 3N :TeM :: WA : 7 Food : Warehome :: Water ?
(a) e (b) = (c) (d) T
Mouth Dam Wheat Time
2. NUMBER : UNBMRE :: GHOST : ?
(a) HOGST (b) HOGTS (c) HGOTS (d) HGSOT
3. A foret wishfass v § LIRG 1 GIRL feren s & @ 3wt son &
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10.

BAML &1 &4 fer@n SInem- (In a coding language LIRG is written

as GIRL, how is BAML is written in that language:-

(a) ALMB (b) LAMB (c) MALB (d) LABM

feu o o= § M & T | P &1 feen Ja w6

See the given figure and find the direction of

P with respect of M:-

(a) 98 (East)  (b) 9f¥=H (West)

(c) ST (North)  (d) =f& (South)

Tt =1 Ufit= 39 gU U A Fe T, o fuasht 3 faash @

gehelid g3 1" 29 s o e Tiften 4 fe wehR g &

(Introducing Garima, Rakesh said that his father is the only son

of my father. Tell us how Rakesh is related to Garima:-

(a) W& (b) firan (c) == (d) ==
Brother Father Uncle Maternal Uncle

Frfafiaa 4ot § o | 91 Hifsu- (Write the missing number

in the following series):-

2,4,7,8,10,12, ....

(a) 6 (b) 7 (¢) 5 (d) 3

49 sishla J siell sHishfd @1 A4il-  (What will come next in the

question figure:

[4]

| ?

O -
o

I ] —0

(a) (b) { © |—s @
ITISH FUTHTe < 2781 P 1 faudia 218w 320 2 (What will be the
opposite letter of the letter P of the english alphabet:-

(a) K (b) L ) M (d) N

#fe QLMU =1 218 SHOW & il JGQR 1 &i¢l - if QLMU means
SHOW, then JGQR means:

(a) KTIS (b) SLT () TIST  (d) LIST

2t TE Avit § 3T 98 @ 21— (What next term in the given
series):-

6,9, 18, 21,42,45, 7

(a) 93 (b) 90 (c) 98 (d) 96
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10.

Section - C (GK.) (1x10=10)
. WA 1 TEF Tt E:- (The national bird of India is):-
(a) TR (b) WA () F@E@ () W
Pigeon Goria Duck Peacock

T 3 BN TEell ThT Tars 23 fhd ad H w1 o

(In which year was the first successful aeroplane flight by the

Wright brothers):-

(a) 1903 (b) 1910 (c) 1899 (d) 1920

51 NE & @S FH 8- (Who is the writer of 'Mudra Rakshsa':-

(@ fwmazm (o) T (o) WER (d) FT[/EW
Vishakh Dutt Kiran Bedi Premchand Vedvyas

ofy=m & it TS 31 §-(What is the capital of West Bengal):-

(a) FIeTHT (b) 3 @em  (¢) foEiRm  (d) TEES
Kolkata Agartala Mizoram  Lucknow

5 3 mn@ﬁag’m - (When was Chandrayan 3 launched?):-

(a) 14 July 2023 (b) 16 July 2023 (c) 14 July 2022 (d) 16 July 2022

HTel T Sl S FTe o9 39 §-(What is the language spoken in

Kerala):-

(a) TerEw©T™ (b) s (c) =§ (d) F=1g
Malayalam Avadhi Urdu Kannada

femuet 9 fFm @w @ 9=f+@ & (Leander Paes is related to

which sport):-

(a) 2= (b) FEfizm (¢) fRde  (q) A1
Tennis Badminton  Cricket Hocky

Ui Hf-et WA @ 69 vt § 594 &- (Golden temple is situated
in which city of India?):-
(a) 7 feweht (b) S (c) IAE  (d) T

New Delhi Agra Amritsar Mumbai
A T AT HeUsT HF-H1 €~ (Which is the national calender
of India?):-

(a) wfEa (b) &g (c) ¥ (d) FHAFE T

Gregorian Hindu Saka None of these

ARd & TR S id 1M Fas2- (Name the national aquatic
animal of India):-
(a) = =& (b) T el () SieRE  (d) D

Blue whale  Ganga Rive; ODolphin Octopus Shark



